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a) enthalpy of fusion is the amount of energy per
kilogram required to bring about a state change of a
material from a solid to a liquid or vice versa.
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a) Boyles Law states that a decrease in volume will lead to an

increase in pressure, at a constant temperature for a perfect gas.
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a) non toxic, non ozone depleating, non corrosive, high lantent heat, low freezing point,
low boiling point.

L,




GES2 MARCH 2023 Full written solutions.Online tutoring and exam Prep WWW.
SVEstudy.com DavidJamesGallimore42 @gmail.com

C=12 #=1 0O=1b A 237

1S kg of CyHy

(ren LM
Coln M ,
= 3yNtF=
CB:\QY}';%'Q H?’: |xF =7 C_a_,H?- ¥
- §
o= 3¢ yl.s= IQSSBk) Fyls = o T {k)
k3 43
Burn Ahe Cedon Zura  we \,\_]f)(djm
= ‘\ = s> - H O
C + 0, ~ C D'Z. md o m i L O S
\o = e 1558 = = O/'M =
~b ‘tAﬂ 12 3 2 lé
A= 3,5‘1335 0\" e S = 53498 Kj ‘,k mjjux
“n \3./\"'\ Jboa
o‘ljj \“‘ ﬁleb iy buen Ljiryjy«




GES2 MARCH 2023 Full written solutions.Online tutoring and exam Prep WWW.
SVEstudy.com DavidJamesGallimore42 @gmail.com

2. 34gL + | 4¢3 488 = 5. 30728 %)

(bxrm«) LA -

a) docm N 5.3%1?@ = 7% 05%4 kj %
0.

L) COZ = C T Oz

12sS8 ¢ 33usy T Leosi

6k
CDL T~ 4_'.\“#5'} Hm/




GES2 MARCH 2023 Full written solutions.Online tutoring and exam Prep WWW.

SVEstudy.com DavidJamesGallimore42 @gmail.com
i)o'm}( 1 [E}D-’—\ ?ﬂ}n#l [T DE)
ﬂl. “ \ - ?_}.}l——b
"#:{::p T2
= = |0\ 230
PI _ ][)l,_blf’ (?.e..) Pz i llg
U, =02 () v, = 002
T, =10°¢ =295k To = 295

m) pv, = PV
|01 325y 01 = 0.0z =

\Oo| 329 yo. 1 _ |IQ\3I‘L§O )

p - O%

o= 101 z,so(fa)



GES2 MARCH 2023

Full written solutions.Online tutoring and exam Prep WWW.
SVEstudy.com DavidJamesGallimore42 @gmail.com
y (o9
Q = e E!JC
Q = €g,000T] (l=n~c Al
7
T 60,000 = ©.2uoiwaz > ¥ b
C = 1P
pE: 69000 - p
py=mrk (D.lummﬂ*?'?)
=
e e e (. FC = bt
F'-‘,ﬂ!l -‘-Emp = ‘-m“l':“-‘* +Air
§ =19\»250
\=0.02 nay +3 46 ¥
— _ 34K
n=129% —
= 243k -
t 7 AV pd)ff’_ @
012150 yp. 0L = » x 233 » 293 Piﬂg’\ _ Pz,\jﬁ_g:
mess = 0,724 09881197 k) Te | 3
1013250 =
___Tg__qj) 6243

aripl U (P

1
d
o



GES2 MARCH 2023 Full written solutions.Online tutoring and exam Prep WWW.
SVEstudy.com DavidJamesGallimore42 @gmail.com

(800
PB\JZ’? = Pk U‘-l’

v = —

5 %
y = azifl b P = x

\)} = OOIJ\ \'L,,":'O~1

to get these volumes we need to look over the previous steps, V4 is BDC
(bottom dead centre) so we know its volume, and V3 is the same as V2
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a) either:

magnetic induction, found in turbine generators, in traditional fossil fuel power stations, and wind turbines.
Photovoltaic, found in solar panels

Chemical (reaction), found in batteries.

OR

solar, wind, nuclear, hydroelectric,

b) Good conductors have giant lattice structures, and valence electrons. this allows the electrons to pass freely through
the whole material, which is current flow.

copper, and gold are both good conductors of electricity.

¢) Insulators do not have giant lattice structures or valence electrons. PVC and rubber are good examples. The molecules
are isolated, and do not connect in a giant lattice structure, this means each molecule is effectively isolated, preventing
the free flow of electrons through the material.
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Voltage drop over internal res
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how does the current split over the two sections in the parrallel section?
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Primary cells are non rechargable. made from a non
reversible chemical reaction.

Secondary cells are rechargable, made from a
revisble chemical reaction.

Lenzs law states that the direction of the induced
current will be in the opposite direction to the
magnetic field doing the inducing!
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dock is filled with
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Taking moments about K
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this is the KG of the ship when empty



